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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226615881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per Kautilya, the fundamental pillars of Economic
development are

a. Strong defense capabilities  b. Communal harmony
c. Robust governance
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Question Number : 2 Question Id : 39226615882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The word ‘Blue Helmet’ 1s related to

1. United Nations Peace Keeping Force

2. Fire Services Organization

3. International Anti-Terrorist Force

4, International Environmental Voluntary Agency
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Question Number : 3 Question Id : 39226615883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Mughal Emperor who said T came alone and I am going
alone™ was

1. Akbar
2 Humayun
3. Babar
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Question Number : 4 Question Id : 39226615884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

India’s first Multi-purpose Green Hydrogen pilot project was
inaugurated in this state

1. Himachal Pradesh
2. Punjab

2. West Bengal

4, Kerala
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Question Number : 5 Question Id : 39226615885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding sumimits

a. COP 29 summit was held in Baku. Azerbaijan.
b. G-20 summut was held in Rio de Janeiro. Brazil
. Global cooperative conference 2024 was held in

New Delhi. India
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Question Number : 6 Question Id : 39226615886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name of the Volcano erupted in November 2024 that is
located on Flores Island of Indonesia

L, Mount Pinatobo

2. Lewotobi Laki Laki
3. Mount Mayon

4. Mount Sakurajama
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Question Number : 7 Question Id : 39226615887 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the Mismatched pairs among the following

a. Wrestling - Rebuts
b. Polo - Nelson
1ok Table Tennis = Ball under
d. Basket ball . Ant rubber
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Question Number : 8 Question Id : 39226615888 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to the report by the United Nations Population
Fund (UNFPA)-2024, the population of China is

1. 144.17 Crores

2 143.26 Crores

3 142.5 Crores

4, 121 Crores
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Question Number : 9 Question Id : 39226615889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following and identifv the correct answer
Bharata
Vyasa

Narada

1.
il

1il.
iv.

Jayadeva
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Question Number : 10 Question Id : 39226615890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Choose correct answer regarding schemes

a. SEHER Programme - Enhance financial literacy and business
skills among women.

b. UNNATI-2024 - Provide institutional credit and aquaculture
insurance to fish workers

1. a. b correct
2, a. b wrong
3. a only correct
4. b only correct
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Question Number : 11 Question Id : 39226615891 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Nobel Prize winner in Literature - 2024 Han Kang belongs to
this Country

L. Japan
2. South Korea
3. China
4, Nepal
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Question Number : 12 Question Id : 39226615892 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding book and author

L. Two leaves and a Bud a. Stephen Hawking
il Beyond the Line b. Mulka Raj Anand
iii. A Brief Historyof Time ¢ Alex Haley

iv.  The Roots d. Kuldeep Nayvar
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Question Number : 13 Question Id : 39226615893 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Major Dhyan Chand Khel Ratna Award winner in 2024 from
Para — Athletics 1s

1. Manu Bhaker

243 Praveen Kumar
3. Gukesh
4, Harmanpreeth Singh
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Question Number : 14 Question Id : 39226615894 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Limitation of the field of vision subtending an angle of less
than this is called “blindness' according to present Act in force.
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Question Number : 15 Question Id : 39226615895 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Famous actress with hearing and speech disabilities from
Telugu cinema industry from her childhood

L Amulya
2. Ananya
3. Abhinaya
4, Anjali
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Question Number : 16 Question Id : 39226615896 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

AYINISHD headquarters is located at

1. Mysore
. Mumbai
3. Kolkata

4. Secunderabad
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Question Number : 17 Question Id : 39226615897 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This education programme is treated as equal to any other
child i the general system for children with severe &
profound disabilities as per NEP - 2020

I Home based education
2. Centre based education
3 Computer based education
4, School based education
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Question Number : 18 Question Id : 39226615898 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This day is observed as World Autism Awareness Day

1. 7 April
2. 8 May
24 2 April
4. 17 April
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Question Number : 19 Question Id : 39226615899 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Providing facilities for students with and without disabilities in
schools comes under

I. Differential education
2. Integrated education
3. Inclusive education

4. Special education
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Question Number : 20 Question Id : 39226615900 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This helps to provide opportunities to all children with
individual learning difference in teaching & learning

1. Universal Design for Learning (UDL)
2, Plus curriculum

2. Indian sign language

4. American sign language
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Question Number : 21 Question Id : 39226615901 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name of the Register maintained by medical professionals to
identify the factors causing umpairments at the time of
peri-natal stage

1. High Risk Register

2. Rehabilitation Register

T2l

Health check Register
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Question Number : 22 Question Id : 39226615902 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Programme exclusively focus on Universalization of Education
of girls at Elementary level
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Question Number : 23 Question Id : 39226615903 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name of the Education provided to the children in schools
from 6-14 years of age. who cannot continue their education
due to socio, economic factors

1. Special education

2. Adult education

3. Non-formal education
4, Inclusive education
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Question Number : 24 Question Id : 39226615904 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Types of disabilities mentioned in PWD Act-1995
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Question Number : 25 Question Id : 39226615905 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Subtests of Differential Aptitude Test

a. Abstract Reasoning

b. Social Intelligence

C. Spatial relations

d. Mechanical reasoning
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Question Number : 26 Question Id : 39226615906 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This colour boards are useful for children with partial visual
impatrment

E: Grey or Green colour boards
2. Green or Blue colour boards
3. Grey or Black colour boards
4. White or Green colour boards
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Question Number : 27 Question Id : 39226615907 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Gifted child one whose performance in a potentially valuable
line of human activity is consistently remarkable.” Defined by

i Pavlov

2. Thurstone
3. Vitty

4, Terman
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Question Number : 28 Question Id : 39226615908 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following and identify the correct answer

1, Spearman a. Group factor theory
il Thorndike b. Uni factor theory
iii.  Thurstone C. Two factor theory
iv.  Binet. Et.al d. Multi factor theory
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Question Number : 29 Question Id : 39226615909 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

INCORRECT pairs among the following
a. Insight learning - Optical apprehension

b. Classical conditioning theory - R - Theory

¢. Trial and Error learning - Latent learning
d. Learning by imitation - Observational learning
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Question Number : 30 Question Id : 39226615910 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Determinants of learmning

I: Readiness. mental health and interests

2, Motivation. attitudes and interests

3. Readiness. Maturation and Motivation

4. Maturation, emotional development and habits
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Question Number : 31 Question Id : 39226615911 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If car driving training helps in driving a tractor this type of
transfer of learning 1is called
E: Negative transfer
2. Positive transfer

Zero transfer

(S

4 Bilateral transfer
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Question Number : 32 Question Id : 39226615912 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct answer

a. Mode is not suitable for Algebraic expression.
b. Standard deviation is most reliable dispersion.
1. a only correct
2. b only correct
3. a. b incorrect
4. a, b correct
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Question Number : 33 Question Id : 39226615913 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the test which i1s NOT a projective technique of
personality
1. Rating Scales
2 Thematic Apperception Test
E 3 Children Apperception Test
4. Rosarch Inkblot Test
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Question Number : 34 Question Id : 39226615914 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The factors NOT influences the individual differences in
learning

L Memory, Emotions and Creativity
2. Interest. Intelligence. Creativity
3. Motivation, Heredity, Health

4. Information, Beauty. Race
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Question Number : 35 Question Id : 39226615915 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Father of experimental psychology

1. Watson
2. Plato
3 Binet

4. Wilhelm Wundt
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Question Number : 36 Question Id : 39226615916 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the factor NOT related to principles of growth and
development.

1. Development 1s continuous and cumulative
2, Development is an interactive process

3. Development takes a rigid sequence

4. Development 1s uniform 1n all stages
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Question Number : 37 Question Id : 39226615917 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the dominant characteristics of Adolescence
1. Age of ambiguity
2. Age of questioning

Period of exploration

[ ]

o

Period of overlapping
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The age of concrete operational stage according to Piaget

1. 0-4 years

2. 7-11 years
3. 2-7 years

4. 12-16 years
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Methods used in counselling
L. Psychological Tests. Interviews

2. Physiological Tests. Rating scales

T4l

Memory tests, Blood tests

s

Interviews, Physical tests
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Bell’s Adjustment Inventory 1s used in assessment of

1. Emotions

2. Personality
3. Intelligence
4. Memory
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Smallest bone 1s located in huwman ear

1. Outer ear
2. Inner ear
3. Middle ear
4, Cochlea
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This type of hearing loss occurs when inner ear is damaged
L. Conductive hearing loss
2. Mixed hearing loss

Mono aural hearing loss

Tad

4. Sensory-Neural hearing loss
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This is NOT a sign of children with hearing impairment

1. Fails to respond to loud sounds

2 Fails to respond to soft sounds

3 Do not locate the direction of sound
4. Understand simple commands
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Windows in cochlea are
1. Blue window. Red window

2. Square window. Round window

Oval window. Round window

T4l

4. Central window. Oval window
oo
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It’s a mental state of persons really not having deafness but
pretends as ‘deaf”
L Acquired deafness
2. Congenital deafness

Functional deafness

fad

4. Pre-Lingual deafness
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Babbling stage of normal child occurs during this period of
language development

1. 3 months
2. 8 months
2. 12 months
4, 3 years
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A child pronounce “‘e school™ instead of “school” is this type
of articulatory disorder

1. Addition

2. Ommission

A Distortion

4. Substitution
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This 1s NOT to be used in speech training

i;
2.
3.

4.

Lip movements
Facial expressions
Gestures

Signs
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Hearing Impairment is a

1. Neuro-motor disability
2 Sensory disability
3 Cognitive disability

4. Mental disability
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Special Educators need to consider this among students

i Make comparisons between children

2 Highlighting weakness and deficits

3. Labeling learners as slow. poor intelligence
4. Focus on abilities, strengths and needs
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Human ear 1s capable of process the sounds in the frequency
range of
SrSPHE SKOR R FIHIY T4
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Abnormalities of outer, middle ear such as partial or complete
closure of ear by birth is called as

1. Aphasia

2. Atresia
3. Dyspraxia
4, Hypoxia
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This 1s a group amplification system for children with hearing
impairment

l. Behind the ear hearing aid
2. Hard wire system

3. Hard band system

4. Body level hearing aid

D2& S%%o Ko 3}&:@ WNo208008 E:DOCJ %e.:a @!@929
OO HBELO

1. B I0K 5003 IA3E assolgo

2. ;::55 36 3:‘@}
3. 558 EFSDE YIRS
o %]

4, S5 5 &80 IV3& aHo(go
Options :
1. % 1
2.2
3. % 3

4. % 4



Question Number : 54 Question Id : 39226615934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Auditory training focus to improve

L. Hearing sensitivity

2. Hearing and Speech sensitivity

3. Hearing, Speech and Visual sensitivity
4. Speech sensitivity
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Special educators need to focus on development of children
with hearing impairment

L. Mobility

2. Language
3. Communication
4. Language and Communication
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This 1s not a strategy for inclusion of children with hearing
impatrment in a classroom
1. Display words with pictures

Z. Write new vocabulary words on chalk board

)

Provide reading material appropriate to level of student
4, Avoid full participation in a class room
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Language and speech development intervention before 2 years
of age of a child is considered as

1. Late intervention

2. Early intervention

3. Critical period

4. Medium mtervention
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Common sign of identifying hearing loss

1. Increase the volume of Radio. T.V
2 Responds to soft sounds

3 Responds to Name call

4, Follow the simple commands
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Micro phone in a hearing aid works as
1. Amplifies electric wave energy
2. Coverts electric waves into sound waves

Receives sound waves and converts into electrical
waves

LS ]

4. Enhance intensity of sounds
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This 1s a curricular modification for children with hearing
umpairment

1. Provide adequate air, light in the classroom
Z; Using amplification system

3 Use carpet to minimize noise on floor

4, Break down of concepts in simple mode
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APGAR score test 1s done by doctors at the time of
L Before birth

2, After birth

3. Immediately after birth

4, Any time
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This 1s a hidden disability

1. Locomotor disability
2. Intellectual disability
3. Hearing impairment
4. Dwarfism
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Children with hearing impairment will make use of these for
finger spelling

1. Hands. face

2. Fingers and hands
3. Hands. face and body
4. Body movements
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It is not one of the major components of individualized
education programime

1. Background information about the child
2. Current level of performance

% Scholarship particulars

4. Goals and short term objectives
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Pre requisites for speech and language stimulation for children
with hearing impairment

L Sign language

2. Body movements

3. Auditory training and lip reading abilities
4, Finger spelling and facial expressions
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Sign. oral. auditory. written. visual. tactile communication 1s

1. Visual communication

2 Universal communication

3. Total communication

4, Co-curricular communication
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A child is asked to repeat directions, phone numbers is
training

1. Lip reading

2 Auditory memory and sequential training
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Auditory training

Anatomical evaluation
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Place the child with hearing impairment in front row of
a classroom benefit to

1. Back ground noise

2. Lip reading

3 Peer learning

4. Evaluation
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This 1s the type of hearing impairment occurred based on
nature

E. Progressive hearing impairment
2. Mixed hearing loss

Conductive hearing loss

L |

4. Congenital hearing loss
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These are NOT the causes for absentism among students.

a. Students frequently fail in the exam.

b. Better teaching process.

€ No relation between curriculum and real life
d. Maintaining school premises attractively
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The method of learning used by Adults

E Pedagogy
2 Androgogy
3. Biology

4. Pathology
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Non-Projected Aids

1. Film strips
2. Slides
3. Overhead projector

4, Flash cards
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Expand VAKT
VAKT Q d880d oeadore

1 Visual, Anatomy, Kinesthetic, Therapeutic
2. Visual. Auditory. Kinesthetic. Transfer
3. Vocabulary. Auditory, Kinesthetic, Tactile

4, Visual. Auditory. Kinesthetic. Tactile
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Hearing loss controlled by Medicines. Surgery and Precaution
mMeasures

l. Reversible Hearing loss
2. Irreversible Hearing loss
3. Sudden Hearing loss

4, Symmetrical Hearing loss
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It 1s not a part of hearing aid

1. Speaker

2. Microphone
3 Amplifier

4. Receiver
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“Speech is regulated by hearing sense organ™ said by
1 Hellen keller

. Cribogram

Carhart

4, Ballow and Brill
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It 1s one of the pre-natal causes for deafness

1. Complicated delivery
2. Pre-mature delivery
3. Post birth injuries

4. Rh factor
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Zero tolerance of child sexual abuse 1s under this Act
| & National Trust Act
2 POCSO Act

3. RCT Act
4, RTE Act
2QUP BOAY FBLOWH FOYEL0 JrO IAFO @ BYD KO
; & A (9 $&0
e 23
2. iﬁé’i} €580
3. 2SS PITTH $00& e
4. 3."}5:“5;'3“531]_ iS%a
Options :
1. % ]
2.¥2
3.% 3

4. % 4



Question Number : 79 Question Id : 39226615959 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A child struggling to understand three-word sentences in a
familiar language at five years is considered as development

delay in
3 Language
2. Socio-emotional

=
i

4

Cognitive

Physical

5 VOSST e FEHR) KO PYTE BSI WHFDSPN NS’
Foeio-NIre TTOM &:go DRSOEFS D eﬁ@;ﬁu)gaéﬁ
IWELeET0 EX)en

1.
2
3.
4.

Options :

1.¥ 1
2. % 2
3.% 3
4. % 4

EALIAY
@vaﬁmez-eajsﬁ
Lo M

ﬁ;ﬁ“@ @*‘

FOHx



Question Number : 80 Question Id : 39226615960 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A group of children to sit in a circle to play passing the ball
accomplishes this goal

L. Language development
2. Cognitive development
3. Socio-Emotional development

4. Self help

2.¥ Sedhod’ 33%:_}&} Horse0 ¥ 2080 @00 E%50e oo

003 SR

1. aﬁivéiaﬁqjg
& }:._r ¥
2. a;me:e 35 &aﬁ}wgg
. TSR STUTDSD

3 VRGNS

4. ?65:::530 PO LTa v el
Options :
1. % 1
2. % 2
3. 3
4, % 4

Section 5

Section Id : 392266523
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section MarKks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266583
Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 39226615961 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

BEhe% 202080 JEPjoL KoLk,

e, SrEYTD, J6 TTTe, EFrd¥en
. S, B SE0Y Joren, BJ¢S SO\ Bew
3 So|FRNS0, HBY DY) Foren, idkren
B DOBHO, ere BOEdA (98, SroEdY SFen
[
2 3, &2
3. e, g
4, es3, 53

Options :

1. %1

2. %2

3.¢3

4. % 4

Question Number : 82 Question Id : 39226615962 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2308 588’ H857 oI HQoWos.

aF }-r:' — e o Ny e ot
(D& BoY) ﬂiﬁjg @@:ﬁfﬁ:q
2. B0 S - HOBD SR
i 5 &, e
3 Etg OPEg0 - Ry @eﬁ;ﬁjéﬁba
4. wrog(Saen - DEW SS0)HR
Options :
1. % ]
2. % 2
3.¢3

4.% 4



Question Number : 83 Question Id : 39226615963 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘BES0' ‘;’::D"’sciﬂ;‘;’ac?@;

% S53850, B>
|
2. B, TP

3. ?:’:550, B

4. BB, B850
Options :
1.% 1
2.% 2
3.% 3

4.9 4



Question Number : 84 Question Id : 39226615964 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
208 3BS° $/S B oS0,
e, &, &3, 0,9 - &igsm
e3.  DSIFcos” HOHBD - Edigsﬂa

o

e, &, 00 - E,igsm

B3, ©ORY oS DT - Lgen
i @, 3

7. €3, 3

3. ), 3

4. &9, €3

Options :
1. % 1
2.% 2
3.% 3
4. 4

Question Number : 85 Question Id : 39226615965 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
g F) & e E] -
Hodes gﬁﬁaﬁfﬁ TR DorTr 8 HSS

L (@I ooy IS0

2. 1 @DBID ductdy Tesd
3. | B9EID AiSos
4. (®HBIJ S0k
Options :
1. % 1
2. %2
3.¢3

4. % 4



Question Number : 86 Question Id : 39226615966 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

DY ForoH $BS (¥5008° e0Y)os.

®. O REJ;S% Aes m5?

@ A8 D& TS Jmswcogs 2@
3. @0 JgTd oo EEID@TBJR]
Ba. D30 HOERD $B0H w0

1. e, 53, 9, 3

. 3, o, 83, 3

w

53,3 G, o
41 &Ep _é_ar a! @

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 87 Question Id : 39226615967 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

R SIVY) &90;&:&'5 aeﬁﬁfﬁdoé.

e. HLEY do. eSS Shod
es. 58 g Ra33850

3. e9d3D50 . - STale)

=X mﬁ:ﬁ = RO

1 ®-0%, 8-9, 3-9, H3-8
2 ©-dD, e-J, -8, &2-o
3. -0, s-5, 3-9, B3-2

4. ©-0%, S-3, 3-9, H3-8

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 88 Question Id : 39226615968 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“ﬁbtﬁaweﬁ: G0 BAIFDoE
S8 Qo Homoeen) s
X3 A HoHen Ke FBo

3 RS 889

- ST TAEALIS bt
4. arﬂ&:?ae:éa’so
= - )
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 89 Question Id : 39226615969 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘XD, (570f’ Jr|gen Ko ;80
()
1. 3B HoXK

2. 520508° Bolsod
N
4. @éma “:\5330)0
Options :
1.v 1
2.% )
3.% 3

4, % 4



Question Number : 90 Question Id : 39226615970 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
BETDEE” B DT LB SV)S KTH0
1. S50 + S
2. SE> 4+ Poed
2 3 SEg + &
4. &> + &
Options :
1. % 1
2. % 2
3.% 3

4.¥ 4

Sub-Section Number : 2
Sub-Section Id : 392266584
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 39226615971 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
298 &S DODTFD #3J), DEHODTED, HoSS DS FHO

B B é@@ H8Y INSBA0D @v;fogso 20P0doRI
L g (B Dden
(H#F0D

2.
3. %Scmﬁasss
4.

E’éqjesme:é&ﬁié
Options :
1.¥ 1
2.% 2
3.% 3

4, % 4



Question Number : 92 Question Id : 39226615972 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

X TGS S FIRS” esvs0 I

| 3 BESDT
2 raTten
[y Ca
5, 1 CF"%UJ
4. BPNR L LIl
Options :
1.% 1
2. % )
3.3
4, % 4

Question Number : 93 Question Id : 39226615973 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ak 3:::'“5 (DeT9E Doo¥), Eﬁeﬁgﬁa‘i Neotoen 58

5 @2,115‘;{5 DS
2, 2TV TISTeN
3. ;’30155369 (Nogren
4, INIRLL LIS

Options :

1. % 1

2. % )

3. % 3

4.9 4



Question Number : 94 Question Id : 39226615974 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
X3 33::::-5 SleEE el 3:%:_}&} m@@ﬁg@ DoIE o :JD;@DQ‘&J.
1. 2005-2006 on
2 2006-2007 Sou
3. 2007-2008 5on
4 2008-2009 Zon

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 95 Question Id : 39226615975 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

9 i B o] ¢ % 1
D ﬁ-ﬂ“ﬁ)w&g 5 ﬁ;@@oéﬁ 2T RO 2PN
ééﬁmomﬁ}d?ﬁ faadﬁaf.;:%

L (388 &E56H0 1, 2 DOADEY, PTFIN0 w¥ 20aE

2. (3 & &80 1 2060E, gm0 1 20a0E
3. (988 1 58cHE
4. o2 3 Eaaﬁsaa;%

Options :

1.¥1

2. % 2

3.% 3

4, % 4



Question Number : 96 Question Id : 39226615976 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

5 ﬁaﬁst}@“?\)& 5003 é&wgdjmu‘@m (@ o
€905000 Pa0 B3 JGO0M 2P0Td).

1. SRy éé"@’écﬂwc‘b
2 Tﬂﬁ“@gdﬁm&;
3. nedest i“*:‘ﬁ“gcb’wt:b
4, @"m‘?ﬁs %ﬁ“@;cﬁﬁwﬁb
Options :
1. % 1
2.9 2
3.%3
4. % 4
Section 6
Section Id : 392266524
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266585
Question Shuffling Allowed : Yes



Question Number : 97 Question Id : 39226615977 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence in which the word "still" 1s used as an
adverb:

1. The water was still and calm.
.8 She still remembers his words.
3. The still night was peaceful.

4. They placed the still on the table.

Options :
1. %1
2.92
3.% 3
4. % 4

Question Number : 98 Question Id : 39226615978 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Which of the following is not a play written by William
Shakespeare?

. Hamlet

2. Macbeth

3 Waiting for Godot
4, Othello

Options :

1. %1

2.% 2

3.¢3

4. % 4



Question Number : 99 Question Id : 39226615979 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the most effective way to conclude an essay:

1. Restate your thesis and summarize main points.
2. Introduce a new argument.
E 3 Begin with a quote or anecdote.
4. Provide unrelated details about the topic.
Options :
1.v1
2. % 2
3.% 3
4.% 4

Question Number : 100 Question Id : 39226615980 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence that uses adjectives correctly:

1. She 1s the most smartest girl in class.
2, He bought a big. red car.
3. This 1s a more better option.
4, They live in a house bigger than everyone.
Options :
1% 1
2.¥2
3. % 3

4.% 4



Question Number : 101 Question Id : 39226615981 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the sentence that uses the preposition "with" properly:
1. We are angry with them.

2. He is interested with painting.

(s

She depends with him for advice.

4. They are jealous with your wealth.

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 102 Question Id : 39226615982 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following is the correct pronunciation of the "-ed" ending
in the word "slowed":

1. fid/
2, /d/
4. fed/

Options :

1. % 1

2.92

3. % 3

4.% 4



Question Number : 103 Question Id : 39226615983 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the primary purpose of a concluding paragraph in an
essay:

L To introduce the main argument of the essay.

2, To summarize the essay and leave a final impression.
3. To provide background information about the topic.

4, To introduce a counterargument.

Options :
1. % 1
2.2
3.% 3
4. % 4

Question Number : 104 Question Id : 39226615984 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the sentence that does not contain an adjective:
1. The sky 1s blue.
2 She wore a beautiful dress.
3. They arrived early.
4. This 1s a large room.

Options :
1. %1
2.% 2
3.¥3
4. % 4



Question Number : 105 Question Id : 39226615985 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the sentence that shows the correct use of the past
confinuous tense:

1. [ was reading a book.
7.3 I was interested in reading books.
3. He was in a swimming pool.
4, I had read the book.
Options :
1.v1
2. % 2
3. % 3
4. % 4

Question Number : 106 Question Id : 39226615986 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following is the correct transformation of the
exclamatory sentence: "What a wonderful evening!" into a
statement?

L, It 1s a wonderful evening!

2 It 1s a very wonderful evening.

LS |

What a beautiful evening it is.

4. Is it a wonderful evening?

Options :

1. % 1

2.92

3. % 3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 392266586
Question Shuffling Allowed : Yes



Question Number : 107 Question Id : 39226615987 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Maximum interaction and student talking is in this technique

1. Projects
2 Assignment
3! Role play

4. Structural approach

Options :
1. % 1
2. % 2
3.°3
4. % 4

Question Number : 108 Question Id : 39226615988 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not multimedia for learning n inclusive classroom

L. Text with visuals
2. Text with sign language translation
3. Text with speech

4. Printed text
Options :
L% 1
2. % 2
3. %3
4.9 4



Question Number : 109 Question Id : 39226615989 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It is language tool for children with hearing impairment

i visits to sites
2 exhibition
3. research
4, oral and listening
Options :
1. % 1
2. % )
3. % 3
4. 4

Question Number : 110 Question Id : 39226615990 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It 1s an Audio-visual Aid

1. Television
2 Radio
3. Cassette Recorder

4, Film strip

Options :
1.¥ 1
2.% 2
3.%3
4. % 4



Question Number : 111 Question Id : 39226615991 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Semantics in a language is system of
1. Word order

2, Meaning

3. Sounds

4. Usage

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 112 Question Id : 39226615992 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Language is a system of arbitory vocal symbols used for
human communication™ is said by

L. Sapir
2 Lado
3 Wardhaugh
4. Webster
Options :
1. % 1
2.% 2
3.3
4. % 4
Section 7
Section Id : 392266525
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16

Number of Questions to be attempted : 16



Section Marks : 8

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266587
Question Shuffling Allowed : Yes

Question Number : 113 Question Id : 39226615993 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

: . ; : 3
The direction you face if you start facing west and make - ofa

revolution anticlockwise

1. North
2, South
3 East
4, West

- ;
935 BED SRz eBvI0IS’ - 0FDes0 By

At D DK FH BOR &oLrtd

E &850
2 &30
Ly
4 e:tisbdaa}
4, YotNblef
Options :
1.¥ 1
2. % )
3.% 3

4. % 4



Question Number : 114 Question Id : 39226615994 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The temperature dropped 20°C in the last 30 days. If the rate
of temperature drop remains the same, how many degrees will
the temperature drop in the next twelve days

K 30 & &BRS 20°C DEFan0d. SRS SMcse Tew
3% &08 o°5'Eh BR)ot Serd] AR Elfien HEF00B.

L8 |
1. 6

2 3

3. 9

4 10
Options :
1. %1
2.9 2
3.%3

4. % 4



Question Number : 115 Question Id : 39226615995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An elevator descends into a mune shaft at the rate of 8m/min.
If the descent starts from 15 m above the ground level. How
long will it take to reach — 545 m? (in Minutes)

2% dUI6, KIS W2 82 IK0S° B0,
68 Jo QO Ho& 151 P 0& BRHI)S, -545.5
D He3 Hoddo (Do)

1. 35
2. 60
3. 70
4. 735

Options :

1. % 1

2.% 2

3.¥3

4, % 4



Question Number : 116 Question Id : 39226615996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The diagonals of a thombus measure 40cm and 42cm. Its
perimeter (in cm)

TronS SBook), szo Soden 40720.5 85w 4220.5 =9
SoenEos (o.ln.odd)

L. 82
2. 116
3. 168
4. 164

Options :

1. % 1

2.2

3.% 3

4, % 4



Question Number : 117 Question Id : 39226615997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

z
A person walks ;]CI]] from a place P, towards west and then

. 1 ,
from there 1—% km towards east. Where will he be now from P?

.q
1. At a distance of l;k:m towards East of P

q
2. At a distance of l“gkm towards West of P

LS ]

. 1

At a distance of 1§k111 towards West of P
y 1

4. At a distance of l§k:111 towards East of P

"
2.5 58 (93%0 P ob —3.20. DEDY FY SETD SHIES

o

1
05 & 5008 1-8.2 SrEFY SET. o8 qope
P S00& )& &otren.

i

1L P 508 & 1“55.31:. STS0m &0ETED.
.q

2 P 504 HEDHEIY 1;5.?.13. Srom &oerED.
1

3. P ood $&508539 155.?.13. SrEoT 0.

1
4. P 00é SrED 155.31;. EE0m 0oL,

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 118 Question Id : 39226615998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

How many times a wheel of radius 14cm must rotate
to go 352m
14 0.20.0 FErgo &) S0 3522. 3008
z =) 4
©8 Y T SO

1. 400
2 300
3. 200
4, 100

Options :

1.¥1

2.% 2

3.% 3

4. % 4



Question Number : 119 Question Id : 39226615999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A closed cylindrical tank of radius 0.7m and height 1.5m is
made from a sheet of metal. How much sheet of metal is

required (in 1113)

0.7 2 FEREn, 1.5 A& Ko 28 Drdbads SeFsEY
e50€ 2.8 Sy TDHSE® BaHdS58. HJL o B0 Ko
St B esvdo (B o)

1 0.968
Z 9.68
3. 96.8
4, 968

Options :

1. % 1

2.2

3.% 3

4. % 4

Question Number : 120 Question Id : 39226616000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
ax+bx—ay—by=
3 (a—D)(x—¥)
2. (a+D)(x+v)
3. (a+D)(x—17)
4. (a=D)(x+v)

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 121 Question Id : 39226616001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

[
I o
I

2

[d

4.

Options :
1.¥ 1
2.% 2
3.% 3
4. % 4



Question Number : 122 Question Id : 39226616002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

.
If you subtract % from a number and multiply the result by

| 12

you get —. What is the number

o | B2

o | 12
i | ko
G,
o)
o
1>
i | k2
5%
&
0

D B voPg 0D T RN )

es ﬁoa:ng

[a—
L | b

|

[ ]

4.

o | =1 o | k2

Options :

1. % 1

2.9 2

3.% 3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 392266588
Question Shuffling Allowed : Yes



Question Number : 123 Question Id : 39226616003 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The word Mathematics was derived from the Greek word
1. Manth

.8 Manthanein
; Mathan
4. Matics
SPEIBE) B0 DEI B (D DEI0 008 AETLES
L S
2 SIS
3 SrES
4 ;ﬁrﬁ%
Options :
1% ]
2.2
3.% 3

4. % 4



Question Number : 124 Question Id : 39226616004 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The formulae for the areas of a triangle and a circle was given
by

1. Brahmaguptha
2. Shakuntaladevi
3. Varahamihra

4. Aryabhatta

8oz, 5)E JTereH Hr(GEros BOHEIIO
1. @:?.’T’&?bg

2. ¥50850nd

3. Nono N rarle]

4, &5:‘552,‘5%

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 125 Question Id : 39226616005 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

By asking the (child) student to arrange beads of pairs like

1.3.5.7,.9 ..., we are teaching the concept of
1. Even numbers

2. Place value

3 Odd numbers

4, Face value

el 3)5“523 wreeos 1, 3, 5, 7, 9 ... s3dedne Eﬂaﬁadlj;b’.:rﬁ}
aﬁam@m 3 E)r:rgg% ﬁagm@ Keded 275

—

-l

00 ﬁoaa;au
z e e
s}

3. 23 ﬁoaaéen
4. DT A0

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 126 Question Id : 39226616006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the Mathematical concept which is not related
to 3, 4, 5 class

1. Writing mathematical expressions
% Testing mathematical conjectures
3. Explaining mathematical logic

4. Counting objects up to 9

3, 4, 5 G8hche Aeddd eSS Hoodow
AT HBoBos.

£ Ke3ds erares odbiedd
2. K38 (PEoSod ddFouco
[}
3. nedes &0 5SS J580BE0
4. 9 S0 Shopesd Eib_oiﬂcﬁo
Options :
1. % 1
2. % 2
3.% 3

4.9 4



Question Number : 127 Question Id : 39226616007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Geo Board 1s useful to learn

1. Additions

2. Multiplication tables

3. Geometry

4. Patterns

ﬂ&meﬁﬁc‘.‘i& oo S0 wo¥o

1 KyrdXen
2. DOEASTeD
3. Eﬁﬁm@m e3S°oreD
4, Seore
Options :
1. % 1
2. % 2
3.¢3

4. % 4



Question Number : 128 Question Id : 39226616008 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The good characteristics of a TLM used to teach Maths should

not be

L. Attractive and safe
2. Durable

3. Cost - effective

4. Disposable material

Ke3g5o $8)0i5e08” 5000 TLM &), 580 5208

L SRRSO DB DEFEPIO

mé’@ﬁ Hed

2
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Question Number : 129 Question Id : 39226616009 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It is observed that the simple pendulum took 20 seconds to
complete 20 oscillations. Its time period is

1. 20s
2. is
20
3 10 s
4 1s

2. ¥ %";ﬂsﬂﬁgé'seﬁo 20 J°8 E'odren DHEE 20 DEDen

HEIO. ) CoTNYS S0

1 20
2 L'}L}
20
3 10 ©
4 1
Options :
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Question Number : 130 Question Id : 39226616010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

X :  Distilled water is a poor conductor of electricity

Y :  Drnking water is good conductor of electricity

1. Both X" and Y’ correct

2 Both ‘X" and Y’ incorrect

5 "X’ correct, Y’ incorrect

4, ‘X’ incorrect, Y’ correct

X.: '?\5555 3OO0 OGN DBJTYIEO

Y: (@08 50D DY EO

1. ‘X S8adw Y Do ?@Eﬁé’}
2. ‘X7 S50805 Y Doy HhTeiL
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Options :

1.v1
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Question Number : 131 Question Id : 39226616011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The incorrect statement about magnets 1s

1. Magnets lose their properties if they are heated

2. Magnets became weak if they are not stored properly
: § On hammering magnets became permanent magnets
4. Pole strengths more at Pole of a magnet
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Question Number : 132 Question Id : 39226616012 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The force of gravity acts on an object of mass 25kg is

25820 (5550°8 Ko HPp DITR Hthweo

L 25N
Z 2.5N
3. 50N
4. 250N

Options :

1. % 1

2. % 2
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Question Number : 133 Question Id : 39226616013 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The incorrect statement about earth quake is

1. It 1s not possible to predict the occurrence of an earth
quake
2. It 1s caused by a disturbance deep inside the earth’s

CIusT.

Earth quake tend to occur at the boundaries of earth’s
plates

LS ]

4, Destructive earthquakes have magnitude less than 7 on
the Richter scale.
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Question Number : 134 Question Id : 39226616014 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Deficiency of vitamin B, causes

i Scurvy
2, Rickets
3 Beriberi
4. Goiter

WS D, S*HoHEo JoI 5O SHNR
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4. mones
Options :
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Question Number : 135 Question Id : 39226616015 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A Insectivorous plant i, Cuscuta

B Saprophyte i1. Pitcher plant
e. Parasite iii.  Lichen

D Symbiosis iv.  Mushroom

208 TPV =EsHEB06G

A 265750 k), i 5300, 580

B. $r&sutd ii. 3:::535 i{f;of
C. HooR)Ad ii. 83

D. 3588550 V. QRGO
i, A-11, B-1v, C-m1. D-1

2. A-11. B-wv. C-1. D-11

A-ii, B-tv, C-1. D-iii
4. A-1. B-i. C-1v. D-ui
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Options :
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Question Number : 136 Question Id : 39226616016 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The correct sequence of Teeth on jaw

i Premolars. Inscissors. Molars. Canines
2. Molars. Premolars. Canines. Inscissors
3. Canines. Molars. Premolars. Inscissors
4, Inscissors, Canines. Premolars. Molars

E5ED 5080 ©585S° HOTS |E500
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Question Number : 137 Question Id : 39226616017 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The trees grows along the sewage ponds are
1. Subabul

2 Tamarind
3. Eucalyptus
4, Neem
507K A THHe I02E QX0 HOW S o0
1. Bozrene
2. 2065
3. d‘.’i::ﬂ?.—‘;’@‘gﬁ
4 35

Options :
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Question Number : 138 Question Id : 39226616018 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Expand ZBNF
ZBNF % 9%00:50&.

1. Zero Budget National Farming

1o

Zonal Budget Natural Farming

[ ]

Zonal Budget National Farming

4, Zero Budget Natural Farming

Options :

1. % 1

2.% 2

3.% 3

4.9 4

Sub-Section Number : 2

Sub-Section Id : 392266590
Question Shuffling Allowed : Yes



Question Number : 139 Question Id : 39226616019 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The skill achieved by a student if he/she arrange the lab
equipment is order and learn how to use it

L Imitation

2. Naturalization

3. Writing skall

4, Manipulation
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Options :
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Question Number : 140 Question Id : 39226616020 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Translation. Interpretation, Extrapolation are under this
domain of Bloom’s Taxonomy

1. Cognitive domain
2 Affective domain
3. Psycho-motor domain
4. Language domain

e

095050, w858, 2P8¥50 WHsd X3 31?53“} g)ﬁ“gE}S‘SEJ
=) o - 3,

mggeﬁméﬁm
1. 23°°ed &Etﬁo?ﬂo
=
2. PN E ToTeYale
3. N NTe 1 iﬁe:me‘_é&ﬁfﬁo?{o
4, e Boko
Options :
1.¥ 1
2. % 2
3.% 3

4.% 4



Question Number : 141 Question Id : 39226616021 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student with speech and Language disability is asked to tell
about previous knowledge about domestic animals in science
class we can epict these skills

L. Manipulative skills

2. Research skills

3. Expression skills

4. Self Management skills

B 00N PR OG0 Ko ITRGY BTN SR KBS’
20D TOLJH© ﬂr&J ?.@Tnc‘.gszagﬁo AT B3 E‘@wyw«ﬁa

mzaéég;ﬁfol}
1 FRTOLAIN Eﬁ.@gﬁbgm

ﬁcsdi:o R)iz's‘ﬁ“ﬁ E‘:Q}E‘FS&

Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 142 Question Id : 39226616022 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These Teaching Aids are more useful for children with hearing
impairment

1. Graphical aids

2. 3 Dimensional aids

3 Activity aids

4, Audio — visual Aids
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Options :
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Question Number : 143 Question Id : 39226616023 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Creating real situation during learning process is called

L Simulation
2. Stimulation
3 Planetariums

4. Role play
o o w2 » - ’ - ) -
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Question Number : 144 Question Id : 39226616024 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Evaluating a student at the time of learning process in a
classroom 1is called.
1. Diagnostic Evaluation
2. Formative Evaluation

Summative Evaluation

L |

4. Logical Evaluation
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Question Number : 145 Question Id : 39226616025 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Tippu’s tiger effigy was kept in

1. The British Museum in London

2. Victoria and Albert Museum in London
3. National History Museum in London

4, Imperial War Museum in London
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Question Number : 146 Question Id : 39226616026 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Natal Indian Congress was established in South Africa by
Mahatma Gandhi in the year

BEePHTS’ ;‘jat.irﬁe:aﬁémoé: TS 304000 SPORD
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2. 1885
3 1895
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Options :
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Question Number : 147 Question Id : 39226616027 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which one of the following is a leading producer of Tin in the
World?

1. Chile

.4 Indonesia
3. Sweden
4. France
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Options :
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Question Number : 148 Question Id : 39226616028 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The only President who had been re-elected for the second
term in our country
1. V.V. Giri
2. Neelam Sanjeeva Reddy
3. Babu Rajendra Prasad
4, Shankar Dayal Sharma
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Question Number : 149 Question Id : 39226616029 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In a thematic map, dark green colour represents

1. Plateaus

2 Mountains

3 Grass lands

4, Forests
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Options :
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Question Number : 150 Question Id : 39226616030 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
People started printing coins in their homes during the period
of
1 Qutbuddin Aibak
2. Balban

Ibrahim Lodi

4, Muhammad-bin-Tughlaq
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Question Number : 151 Question Id : 39226616031 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ashoka’s mscription detailing on Kalinga war was found on
this rock edict

) No. 13
2. No. 10
3 No. 7
4. No. 6
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Options :
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Question Number : 152 Question Id : 39226616032 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Article of Indian Constitution that provides universal Adult
Franchise

I Article 315

2. Article 351

3. Article 362

4. Article 326
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Options :
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Question Number : 153 Question Id : 39226616033 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The first Municipality in Andhra Pradesh was
1. Kakinada

2 Bhimili

3. Bhimavaram

4. Chirala
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Options :
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Question Number : 154 Question Id : 39226616034 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

River ‘Ghata Prabha’ 1s the tributary of this river

I Krishna
2 Godavari
3 Ganga

4. Kaverti
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Options :
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Question Number : 155 Question Id : 39226616035 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student with hearing impairment travels from
Visakhapatnam to Araku and said that the temperature 1s lower
because it is higher than mean sea level — The method here is

3.
2,
3.

4.

Inductive Method
Deductive Method
Practical Method
Project Method
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Question Number : 156 Question Id : 39226616036 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This enhances the interest. enthusiasm in study if society to the
students with hearing impairment

1. Charts

2; Perceptual experiences
3. Perceptual statements
4. Elocution
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Question Number : 157 Question Id : 39226616037 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student knows about news on famous actress in daily news
through his/her mother

l. Physical Resources
2. Written Resources

3. Secondary Resources
4. Primary Resources
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Question Number : 158 Question Id : 39226616038 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Second step in education programmes - Fictions

L, Allotment of Roles

2. Conversation starts by who. when. where
3. Deciding evaluation process

4, Selection of subject
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This method is NOT suitable for Children with Special Needs
at primary level.

1. Activity based method
2. Story telling method
3 Project method

4. Resource method
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Types of problem — solving methods are
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